Bf60FEEAFF 7T =20 KERE

S (60FE) o4+ 7 X7 ORAEERIT. 6,030 v, @FI2E 2 THHEML > TV 5,
ZOWNREE - 1R -1 ~5RENIEHICBEEX I BRAEDTIHT 4,397 bV, &FHIE
2FAM. RREX 73 143%CIE3ITFHMA, RAKREXIM 1 27THT IR 6 THHDOKE .
FERELEB>TV 5, BISTEELRBRBEEX 7 ERREXIBANE > T B DiE . BFB6EED
REBEE RAEDT5072 ) CLARETEEEPEX /BNEBC LEDPLTHS. T
DBRINIE DILA P Mg DL EIc & 0 IBFISOER T 3 BIE & X 7 1sESiiz U BRI60ER ic 3R %R
DOHEER% LEZ 6,000 bYyAEELBEERHIELELNG, ZOLHIK, EXI/BEIEES
KEBHELEFHO (DU E] ELTEBLTE L, SROBEROBAREFEOHIZK O >D
BT TH—DEX/BEDFL DU LU HEREOBNERZEL TE TV ELVWLDTH S, &
BICHEBCHHS FS > FENROBRG N LE#SHR L L0Ed. GEE)

3,000

4,000 71
‘;., 3
- 00 RBTK I DU

3500 A——a B € X0 DR //

2500

2000 \ / \

| / .
[
HEY /%)

5004

47 .48 49 30 51 m. 83 R4 5E O BE 5% 5B 59
B—1 BREEX 7 CRREXIOERTRE (REXVESENTHLY)




F—1  BHU60FEE FFFUVEXIOKBRUSEEBAERROBER

g ez KRR By P & & #

HERk) & B[
EERke] & B0 |EERK) & B/ [ |4EEk) &€ # M (AFHBIHC)| () + (B) +1C)

439779 | 927,698,223 | 864,536 |136,345066 | 768530 | 165,891,990 |6,030,865/1229,935.279

(7 3.0%) (143%) 127%)
(A)+(B) +(C) x 100
(KB & DIELT)

(1) BEEX7iLDONT
OmERLHEW (1,023 b)) OFEERME (623 +v) @& (605 k)
@FETHE (410 +>) @RI (372 +)

) RREXZILDVT

OBEREE (490 ) Q@QAEWLAEG (124bY) GOFREZERT GO+
@5I0REE @1 v) ®F-EiEE B7hv)
3 RE'EX2iEO2NT

OH&HE (199 b)) QHEFEREMS (170 Y) @TEBEMAEEG (143 bY)
@5 (101 +v) GOFRRLAEEG (T4t V)

Ry TR LBRBEESE
._g._




i

76Tl oHN. £22'8969L26 |76.185287% 6279T1'GEY [66L°L6ETY €68€1 52 906881 412
L1700€¢€ 18726LT (780'L61'6S |¥80'L6T6S - ZvoLye ZyoLY e - # # E
0Lt - - - - - - - = g @
- - - = - - - = X Mo s
- - - - - - - - B O &
- - . — - - — - m B\
062~8¢E1 - 000°€P 9 000'c¥9e - pooee 00082 - woH g
- - - - - - i il
L322 2572 0068666 009'98¢g'¢ce 00.86599 226017 PRYOV I QEVFOE 28
- - - - - - - = B z2 3
SEAA - 0s¥9¢ 0Ssv'9¢ - 291 [ A - B w_w Fi
- - - - - - - - % E ¥
- - - - - - - - g % v
= - - - - - “ - Iif 2
- - - - - - - uo9% &
061~G211 94T 088GI¥98 $%9'266¢8 G£2'€987 008609 000e8¢s 0087272 5 Ik
802 - 00062 LT 000G62.LT - 0828 0828 wl %
- - - - - - - - BiEEw
- - - i - - = L g e
- - - - - - - ~ & 2
- - - ~ - - - - W oW
- - - - - ~ = - Mooh %
6E1 - 08%'269°G 089269 - 88807 8EQ0¥ e o M
i X - - - - o =~ " :
Sv1 - $90'808'8 7908088 - 6£€09 BELE00 - wﬁ bilts .m,
- - - - - - - Y i 5
- - 0evcLLE 0EP2LLE - 92698 9608 - o &
Lve L61 02092692 02 09.8'¢€¢ 000068 168211 15690 00081 I B
9% 61¢ 6£6°0€026 1286822 81 1'IVvL6L 2y6CcL¢E 9066 agg9per 9 ¥
06¢ £€¢€?¢ 066'L68'T%2Z | 006'GOT'OT +| 0602GL'62Z STPEZOT 2y Leg vmo“wwm woEm
8LC L9% 000°€0T'CLT | 0000020L1 | 000€062 S19€29 GRLE1G 06801 2 &
0G1 vee 92920629 00€LE002 9ZE'G9VLY 26907¢ cHeE el gLoL0E ﬁ £
- - - - - - = - o b
291 S1¢ 0002€L96S 00068708 000€¥y 29 G0.L'6E¢€ 00401L¢ a0062 M W
061 00002.2 0000L2 - 00.L1 0041 i i3]
@ @ |EH ™ |E @+ & B B B Flyg - w 2 E S R % £
A DEFYEE | VET Y | SuiEy
e W w | KB 3 (@) ) HEEF AT B

HHERSN O X I BRSO 0 : 7 -




081 €61 990GV L8 T [BELTTIQTIET [8ZLEESY 9¢£6'%98 No 778 7EV02 2
2S1 - 96G'€G LY 96G'€G LY - 80TI'T¢ 801T¢ - o 4B h=A
- - - - - - - - Hon o8
- - - - - - - - X W
- - - - - - - - 5 Ok &
0¢€¢ 0¢? 00009€92 09L209'€¢ 0¥2'LsLe 006%21 216211 88611 m E Vv
- - - - - - —~ - ® w7 B
- - - - - - - - = .
824 847 0080968 00008¢€'L 008'08TT ¥85'L¢ 00¥%2¢ 781G M W W
- - - - - - - - ¥ B @
- - - - - - - - B ZE =
- - - - - - - - g % v
- - - - - - - - M =
- - - - - - - - H O K
LS1 001 08T¥¥%6G'1T 26V 1SH'T 88976 191071 7£2'6 L26 g 1154
021 - 096057 096057 - 8G6.'¢ 8G1.°¢ - o ¥
- - - - - - - - PEEY Y
- - - - - - - - & oF
- - - - - - - - & Bl
102 - 072’161 0¥2161 - 164 161 - LITR - '}
041 - 0€9'G9 7% 0£96G97¥ - 6ELC 6€£L2 - ¥ B H
— - 00S'S8¢EY 006S8¢y - 0080¢ 0080¢ - B |
681 - 08195189 | 081'961'89 - 1€1'06 7 1E1067 - & &
vel - 072'€ES'S 072°€E GG - Le2TY LEETY - m e w
- - - - - - - - !
- - - - - - - - ¥ =
Lye - 000°LV2 000'L%2 - 0001 ooo.H - MN W
0LI - 07 L6910 0P .L6910T - 22866 mmwm - Z = #
8L2 - ooooooH 0000001 - 009°¢ 009t - g & &
- - - - - - - v, &
- - - ~ - - - - o ST TR
%91 S1¢ 000L9G% 0009907 000€0S Sve'Le 01062 GEED 7 z
- - - - - - - - s Kk
- - - - - - - - g =
B @& @ (@ e+ @ B =W B &y & H F | B0 FHF
] LU LY WEFVEE NETEY | suiby
BY) W ] 2. B 5 {d) {v) s 7] o 1) w

HHEREN 0L X T WX EE 09 Okl

€—%




gee G662 066168G9T | T0E99IV6 689GZLTL 086'89 4 8Z%20§ 20.692 g
681 C - 070092%¢ | 0700922¢ - 69L0L1 69L0L1 - #@ £ E

- - - - - - - - =T W

- - - - - - - - X M E

- - - - - - - - E % £

- - - - - - - - T OBV

- - - - - - - - ® o &

- - - - - - - - (&l )
2L2 2L2 00L91T6¢8 00%°L21T 00¢£'686'8¢ 769C¥ I 897% 9gZev1 343} = Wm

- - - - - - - - E 2 3

- - - - - - -~ - % [ @

- - - - - - - - % £ 3

- - - - - - - - T X Yy

- - ~ - - - - - 11 =

- - - - - - - —~ ¥ % &
0¢2~L21| ¥2t1 09008862 LEIv26C2 €726'G56°C 190661 y€e6L1 LZLEZ =z liE4

- - - - - - - - @ ¥

- - - - - - - - PEEwY

- - - - - - - - g I |

- - - - - - - - g 2 o

- - - - - - - - I T

- - - - - - - - ¥ o F

- - - - - - - - o0 B

- - - -~ - ~ - - & &
IyI - YOS TVEPL | POETPETI - 9L8'T0T 946701 - o O 5

- - - - - - - - 1l =4

- - 07S%L2E€L | 020°TT221 | 025€9§ §29T2 $86%81 0797 b 3

- 092 00668% - 006'68% 288'l - 2881 i B

- ¥22¢ 220'T92's - 220'19¢¢ 9e¥¢2 - 9¢¥ez 3 b4
£€2¢ vZ2¢ 006'821'72 00%'2S1'01 00G'9LBE 1 9.8V L 9¢g1e A7 Z = &
8L¢ 0000691 0000891 - 09€V 09€7 - 3 = &

- I€¢ 72S68%6 - 7256876 [6LL2 - 1SLL2 I &

- - - - - - - - O o 5

- - - - - - - - B 2

- - - - - - - - W kk

- - - - - - - - g =
H @ |&) o e+ | B F| W B F g+ W Gy & H ENE -

, AEFWEY | VERs Y | @8Nk
6 m % IEI I (@) (v) HEEF T T+
EHEMEN QLY TREL 0 Ik ¥ —2F




R—65BM6 0EEEX/EREEAEER

wH

. xR Qo EW it
4 Y R *4 S
o FH RS e o
R o
ik HY S S &
LSRN T REB R
A RS
N = Ly c
m N%@W%@ B2 Qe
- W B VA Ao
i F N EWK =8
o] o] o] [e]
1
e o cococoe o o = o o o oo
Ht 0 mwoor~oo O o Te) ~ < o o)
| w5 O - < oded
'&K‘ — = — o~
1[=3
o
N
Z o oCooNe © o oo o o o oo
Eﬁm[o]@ooobo]o|m|||]|Hollllo|o|o!l||ov
- O OO0 WO 0 = ™ 0 <+ w o o~
gﬁg{c\f N NS0l o S g o < o]
- T oo mMO — © © o™
N O O i ™ 7> ~|
i ] N
ﬁ.—' © VWO 0 N <t 0 IS Lo —
W | o3 | om0 | | 2] } oo | o3
[ T T | I [
AN o
Rl
s
)
R
<
=
' | ST ND o W oo o o w o <
No | 0 | N | | [ j ] — ] < <
] | [ | I
i 7o)
#
#
i
SN
ﬁﬂo o Cpowoo o O oo o o 0o
T I 1 L1 I O O O
- N oo wto o O o < 122 © o)
@\ﬂ TN o MO o = =1 =) — od
= - - e
#Z

il

1 A L Q3 = R IR R B W W R HE < e = o K 4 T B - D L

;8 H g2
e oy = i3 o FRooKmENEN IR i I
= % 5
ERN4 BHh R EIrREYE RS EC B KRSy Sn < bRRD




